D 2

2

AP Cote ABL 2.4p HW

L Cosx

2. Q) xrovx ¥ 2% N x V2. -..\
d - sl
) o d )
1 - — —
£UYXD = B (OVX X (OSX X 4 S dkenn ‘ (- $inx) Ix o3 - ‘°5""3d;[" ,;,\,,,}
gz —_— M -
S (t-sina)?
T xsina 4 cesx v 2sec?x
Ct-smxY(-smx) - cosa (~eos =)
) (t-sianx)?
H. W3 2 sccx ~csex = stanx ¥ St ¥ cos b
(t-simx)?
y' = 3;‘25«.7( - S esex
| = Sinrx
5 ey
‘ = 2cecx kamx *+ esCxcok X ’ (1-sian)?
—_— e
—
g /_’S }
\-giax
6. 9lt) = 435ect « tank ¢
. 2
9O 2 dsect + 2 pant
Sint
) “q. <
\ = 4sect tant + Seclée 9 [+ €an t
9 .
- TE Cireane) 3 St~ Sing g_tr.“' t\p\‘t-}
= 2
~¥. 9= v(acoso + bokuv) o I (1 ®ne)
- .2 = iEine
94z o 7 (cosurlocotro) o (c\{_osu—ﬁ-\:co‘\’u}diu . Crtetan€ D €D - sink- secle
AV
[+ cane)?
{ 2 v (Fasinu -besc?0) + acosvarbcotV -
6. 9= % ginx tana

-0, 9= Sind cos

.

o Sine - die cos@ & (os© ,-.gé,.sine g R e amsaiints

2 _.
x 5.n"('§-

Q .
tonx + €anx £ x? sax
Ix O, B

Y.

=

X2 8inx - Stt.lrx* tan—\[ 2 . . Y
——e X G Sin - Simx ;_qu'}

2 ¢ ca
xtsinx sectac & tanc [n(‘cosrx v Qv(Sir\«-)

I~
1 T

- )
et ewd® T
—— " onswey
7 . _’—": T T o T TE .
" T 200s%0 | \ , 7
i




22.

24,

9= C 14 =) cosx

° -
yl= Creod) o O3 & covex ;%(Lu-m']

S 1«»«3(-5;-@(\ + Cos X

(V|+o§(_—s:no> + o3 O z

S
bl
R
el
O
X
Iy
b
R

—— e e e e iy et e . —nb e =1 e a1 et



